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Note:	 The question paper is divided into three sections A, B and C. 
{ZX}e :	 àíZ nÌ VrZ IÊS>m|  "A', "~' Am¡a "g' ‘| {d^m{OV h¡& 

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Section ‘A’ contain 08 Very Short Answer Type Questions. 
Examinees have to attempt all questions. Each question is 
of 02 marks and maximum word limit may be thirty words.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 IÊS> "A' ‘| 08 A{V bKw CÎmamË‘H$ àíZ h¢, narjm{W©¶m| H$mo g^r 
àíZm| H$mo hb H$aZm h¢& àË¶oH$ àíZ Ho$ 02 A§H$ h¡ Am¡a A{YH$V‘ 
eãX gr‘m Vrg eãX h¢&

1)	 (i)	 Solve ( . ) .4 5 8 2 1 2'- +

		  hb H$s{OE ( . ) .4 5 8 2 1 2'- +  
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	 (ii)	 Find the value of  128
1
7

_ i

		

		  ‘mZ kmV H$s{OE 128
1
7

_ i

	 (iii)	 Define the median
		  ‘mpÜ¶H$m H$mo n[a^m{fV H$s{OE&

	 (iv)	 Find the LCM of 24 and 36
		  24 Am¡a 36 H$m bKwV‘ g‘mnd©H$ LCM kmV H$s{OE&

	 (v)	 Solve : :x15 1 3=

		  hb H$s{OE : :x15 1 3=

	 (vi)	 Define compound interest.
		  MH«$dVu ã¶mO H$mo n[a^m{fV H$s{OE&

	 (vii)	 Find the value of ( )x y2 1 3-  at ,x y2 2
1= =

		  ,x y2 2
1= =  na ( )x y2 1 3-  H$m ‘mZ kmV H$s{OE&

	 (viii)	Write the value of  log 310
		   log 310  H$m ‘mZ {b{IE&
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	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Section ‘B’ contain Short Answer Type Questions. 
Examinees have to answer any four (04) questions. Each 
question is of 08 marks. Examinees have to delimit each 
answer in maximum 200 words.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 IÊS> "~' ‘| 08 bKw CÎma àH$ma Ho$ àíZ h¢, narjm{W©¶m| H$mo {H$Ýhr 
^r Mma (04) gdmbm| Ho$ Odm~ XoZm h¢& àË¶oH$ àíZ 08 A§H$ H$m h¡& 
narjm{W©¶m| H$mo A{YH$V‘ 200 eãXm| ‘| àË¶oH$ Odm~ n[agr{‘V
H$aZo h¡&

2)	 Compare between Logicism and Formalism.
	 VH$m©V^yV J{UVdmX Am¡a AmH$m[aH$ J{UVdmX H$s VwbZm H$s{OE&

3)	 Solve the following system of equations:

	 3 4 7x y
x y2 6 9
- =

+ =

	 {ZåZ{b{IV g‘rH$aU {ZH$m¶ H$mo hb H$a|& 
	 3 4 7x y

x y2 6 9
- =

+ =

4)	 If (A + B) work on time 15 hours and A work is time 20 hour 
then determine B’s time in completing the work.

	 ¶{X (A + B) {H$gr H$m‘ H$mo 15 K§Q>o Am¡a A Cgr H$m‘ H$mo 20 K§Q>o ‘| 
H$aVm hmo, Vmo B H$m H$m‘ H$aZo H$m g‘¶ kmV H$s{OE&

5)	 Polynomial of ( )x x x3 7 6 92 2+ - +  divided by x3 .
	 ~hþnX ( )x x x3 7 6 92 2+ - +  ‘| x3  H$m ^mJ Xr{OE&  
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6)	 Find the value of  916 8 273 3- + +  

	 916 8 273 3- + +  H$m ‘mZ kmV H$s{OE&

7)	 Find the roots of equation x x 12 02- - =

	 g‘rH$aU x x 12 02- - =  Ho$ ‘yb kmV H$s{OE&

8)	 A person sold 500 apples in purchasing rate of 400 apples. 
Calculate his percentage of loss.

	 EH$ ì¶p³V 500 go~ H$mo 400 go~ Ho$ H«$¶ ‘yë¶ na ~oMVm h¡& CgH$m hm{Z 
à{VeV ~VmBE& 

9)	 Area and height of a right circular cone are 154 meter2 and 
12 meter respectively. Find its volume and slant height.

	 EH$ R>mog bå~ d¥{Îm¶ e§Hw$ Ho$ AmYma H$m joÌ’$b 154 dJ©‘rQ>a d 
D±$MmB© 12 ‘rQ>a h¡& BgH$m Am¶VZ d {V¶H©$ D±$MmB© kmV H$s{O¶o&

			   Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Section ‘C’ contain 04 Long Answer Type Questions. 
Examinees will have to answer any two (02) questions. 
Each question is of 16 marks. Examinees have to delimit 
each answer in maximum 500 words. 

(IÊS> - g)
(XrK© CÎma dmbo àíZ)

{ZX}e :	 IÊS> "g' ‘| 4 {Z~§YmË‘H$ àíZ h¢& narjm{W©¶m| H$mo {H$Ýhr ^r 
Xmo (02) gdmbm| Ho$ Odm~ XoZm h¢& àË¶oH$ àíZ 16 A§H$m| H$m h¢& 
narjm{W©¶m| H$mo A{YH$V‘ 500 eãXm| ‘| àË¶oH$ Odm~ n[agr{‘V
H$aZo h¡& 
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10)	 Explain the nature of mathematics.
	 J{UV {H$ àH¥${V H$s {ddoMZm H$s{OE&

11)	 If ,x y1 2=- =  then the following of the terms.

	� ¶{X 1x=- Am¡a 2y=  hmo Vmo {ZåZ{b{IV ì¶§OH$m| Ho$ ‘mZ kmV 
H$s{OE&

	 (i)	 x xy y2 22 2- +

	 (ii)	 x y
x y
-
+

	 (iii)	 ( ) ( ) ( )
( ) ( ) ( )
y y
x x x
1 2 4 3
1 2 3
+ + +

- + +

	 (iv)	
y y
x x

2
2 3 5

2

2

+
+ +

		

12)	 Find standard deviation from following data:
	 {ZåZ{b{IV Amd§{Q>V XÎm Ho$ {bE à‘mn {dMbZ kmV H$s{OE&

10-20 20-30 30-40 40-50 50-60 60-70 70-80
3 6 12 9 7 7 6

13)	 A person gives 20% of his money to his elder son and gives 
30% of his remaining money to his younger son. After that he 
gives 10% of his remaining money to his daughter. If he has 
rupees 100.80 remains then find actual money he has.

	 EH$ ì¶p³V AnZo YZ H$m 20% AnZo ~‹S>o b‹S>Ho$ H$mo XoVm h¡& eof YZ 
H$m 30% AnZo N>moQ>o b‹S>Ho$ H$mo XoVm h¡& BgHo$ ~mX ~Mo hþE YZ H$m 10% 
AnZr b‹S>H$s H$mo XoVm h¡& ¶{X CgHo$ nmg 100.80 ê$nE ~MVo h¡ Vmo 
~VmBE {H$ CgHo$ nmg {H$VZm YZ Wm?


